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QUESTION 1

As an Integration developer, you have been tasked with integrating Oracle Content and Experience Cloud with a
process application. Because this is a document-centric process that will involve collaboration with process participants,
it has been determined that the document and conversation functionality should be used. Which task is NOT required? 

A. You must manually enable the document and conversation features for your process application. 

B. You will need to have the administrator configure the connection between Oracle Integration Cloud (Processes) and
Oracle Content and Experience Cloud because developers do not have those permissions. 

C. You will need to create a new process application because the conversation functionality cannot be enabled for pre-
existing applications. 

D. You will need to assign conversation viewers to either an Oracle Content and Experience user role or Oracle
Documents Cloud Service user role. 

Correct Answer: A 

 

QUESTION 2

Which REST API can be used for registering a device as third party device? 

A. CREATE /iot/api/v2/private/partners 

B. POST /iot/api/v2/private/partners 

C. REGISTER /iot/api/v2/private/partners 

D. PUT /iot/api/v2/private/partners 

E. GET /iot/api/v2/private/partners 

Correct Answer: B 

You can register all devices in Oracle IoT Cloud as third party partner devices by using this REST API: POST
/iot/api/v2/private/partners. https://docs.oracle.com/en/cloud/paas/iot-cloud/develop/specifying-devices-third-party-
partner- devicesoracle-iot-cloud-service.html 

 

QUESTION 3

What is the "Decision Table" in Business Rules in Process Cloud Service? 

A. a range value set in a spreadsheet-like format that defines a list of allowed value ranges for the input and output data
objects of a decision 

B. a decision matrix that organizes if/then rules into a spreadsheet-like format, where rows represent conditions and
actions, and columns match condition values to action alternatives 

C. an if/then rule that has one or more conditions (if statements) that together are true or false, and one or more actions
(then statements) that are applied if the conditions are true 
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D. a value set in a spreadsheet-like format that defines a list of allowed values for the input and output data objects of a
decision 

Correct Answer: C 

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/creating-if-then-rule-business- rules.html https://d
ocs.oracle.com/en/cloud/paas/process-cloud/user/creating-decision-table-businessrules.html#GUID-26D3DF2A-
D6D8-404F-834D-EE512E787630 Creating a Decision Table in Business Rules A decision table organizes if/then rules
into a spreadsheet-like format, in which rows represent conditions and actions, and columns match condition values to
action alternatives. 

 

QUESTION 4

What are two possible reasons for a Gateway not getting started? 

A. The loT Service may be down. 

B. The provisioning file may contain correct Activation ID and Activation Secret. 

C. There is an invalid certificate. 

D. The provisioning file may contain incorrect Activation ID and incorrect Activation Secret. 

Correct Answer: AD 

 

QUESTION 5

What Mapper function can you use to get the lookup value in Mapping Builder? 

A. GetLookupValue 

B. FindLookupValue 

C. LookupValue 

D. SearchLookupValue 

Correct Answer: C 

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/ocmap/using-oracle-mapper.pdf 
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